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Please make sure that the printed pages in this
question paper are 16 in number and it contains
19 questions.
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General Instructions : —

(i)
(ii)

All questions are compu!sory'.

This question paper consists of 19 questions
which ure divided into four Sections ;'A', ‘B,
'C'und 'D' :

Section 'A' : Question No. 1 of this Section

has sixteen (i-xvi) Objective

Type Questions. Each question
carries 1| mark.

Section 'B': This Section contains six
questions from Question Nos. 2
lo 7, each of 2 marks, '

Section 'C'; Tyis Section containg eight

questions from Question Nos. 8
to 15, each of 4 marks,

Section 'D' ; qy,is .Section contains four
questions from Question Nos
16 to 19, each of § marks, '

(iii) There iS no o orall choice. Howeyer
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questions of 5 . ks, You hauve - N twe
only one of the given choice in sy qp o Qltempt
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Express 0.001 in % form :
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(iv)

(vi)

(5)

1n which quadrant point (-1, -3) lies -
(A) [ quadrant ' (B) 1I quadrant
(c) Il quadrant (D]~ IV quadrant

Prefefaa dieiid 5 § -1 o T d 7

(A) x'"t+6 IW%"'
[C)‘ x+% D) x*/24+2x+6

Which of the following algebraic expressions
is a polynomial ? .

(A) x'*+6 (B) 3"2*‘%".

(€ x+= (D) x*%+2x+6
X s

(v) FHIEOT 6x+7 ol ax+by+c=0 d F0 ®

a % 919 8nh : 1

(a) © (B 6

(€) 1 (D) 7

Compare of 4, ,7with the equation

“x+by'*‘c=0,theva1uc0fais-'

(A) O (B) 6

€) 1 (D) 7

2x_2 7x+3_25f .

o 2oy g e T 1
3+1)(x+3) (B) (2x+3)(3x-2)

© @x-D(r,

The faclor of 312 L vrsd is

A 2x +/X . .
tA)  Cx+Diy, (B) (2x+3)(3x-2)
(C) (23""1)(3‘-*4) T ow

‘(D) (2x+1)(2x-1)

(D) (2x+1)(2x-1)

(6) 1203
(vii) TR al| b, b]) c @ Pa-8 T a7 ? 3
(A) ghc (B) alb
wy/c:; c (D) blc
If a||b, bl c then which onc is true ?
(A) alc (B) alb
(C) allc (D) blc

(viii) I A, BalR C @ Y& W Rea @ g & i
B Rig A O C 3 7w Rag &, @ 39-a1 4

T e - -
(A" AB + BC = AC

(B) AB-BC =AC
(C) AB+AC=BC

(D) AB + BC = AB. ;

A, B, C arc three poinis lies on a line, B lics
between A and C, then which one is true ?
(A) AB+BC=AC B AB_BC - ac

(€) AB+AC=BC (D) AB4+pc=pp

0 P8 Bt 9 080 b e

IqH AFAG Bl

1
A 50 ﬁ‘“j -, o 25 e
() 153 ) 2342 ,

If the height o_fa T
is 5 cm, then 1ts arg iil? 1810 cm and base

5 :
(A) S0 sz (B) 5 o3
(c) 15cm My 2 o2
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(A) 120 @’ (B)_A10 Hl0”

(C) 130 #o” (D) 140 Ho®

The inner diameter of a circular well is 3.5
m. It is 10 m deep. Its inner curved surface

arca is :
2
(A) 120 m° (B) 110m
2
(€) 130 m’ (D) 140 m

(xi) TF BT GHAOT T 8l 8 -

(A) | SEEA (B) = &
ey Ay # o ™ @

Each angle is not right angle :

(A) Rectangle (B) Square
(C) Triangle (D) Cube

(xii) I F AF IARY i
What is volume of a cylinder ?

(xiti) oy &, x 1 [y @ s

1203

(8)

the valuc of xbe:

In the figurc,

X
() 9
cy 27° ) 36°
iv) @ R F 3 A, 5 AR 4 W% W B A
12 @ R agwma e B e T aa
R 3 midar gt 1
3 S
W 3 B
1 : 1
5 = (D) g

In a bag there are3 red, 5 black and 4
white _balls. One Wl is drawn at random.
What is the probability of red ball ?

3
Wi ml
1
@z ml
(xv) ¥4 91 g e 9
&) 5 [*ﬁ : 1
. o 3
¢ mean of first fiy,
A) 5 Naturag) _
© B g eSS

(xvi) \'ﬂd’gﬁ F vy a'tﬂ%:m] 2
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[Q)/%ﬂr B) o g 1
O = B
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(3) Iy | 1203

: ~mici AL 110)
Angle in a scmicircle is ; -
(A) Complementary(B) Obtuse o 7 A w60 LACE™ 31°, find £BDC.
(C) Right . (D) Acute &
SECTION - B B’ )
§ - § | ‘
2. 03333 ... =03 3 £, & &y & o5 dfw, 7 p B
’ e 2
s Qs fl o &7 105° 3 3 H T B
g & aur 7+ 0 d 2 Construct an angle of 105",
6. aq T A Bea WA g P gem s
Expr = . p 4 154 &4 ¥ 2
S B e =03 in the form ~, where Find the radius of a sphere whose surface arca
p a4 _ - j§ 154 cm”. |
/‘{ g arc integers and g#0. ; o o it 3o i B0 -
/ . iy
S T 3ifng - 5 . _@ﬁﬂq&ﬂnﬁaﬁmﬁ;_% 2
St (3-#,/5)(3”\/5) , oo |3 fam |2 A \Rm |9 W R A |
1 - 7
. Pl - “ aiar | 23 | 72 | 77 -
/ C+48)6-3) 2 R o & w9 3y
4 qﬁ é — a . - ":
ABC = 69°, <ACB = 31°, & «BDC Fmam?2 Thrce coins are tossed Smlaﬂcously 200 times

with the following frequemgeje ;
- : of .
A D comes different out
-
\ Outcomec |3 hcads (2 hqu
- ﬁ s
B i e Frequency 23 n

Find the probability of 2 }st

&/
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(11) . 1200

™|-¥
SECTION-C |
8.qma 7 wEwm B &
28)° +(-19)° +(-13)" # 57 7 FhAC 4 4

Without 3ctualh Calc‘ﬂaﬂng the cubes, find the
value of (’5) +(-15F +(- -13)°.

o, G 2v+1=y-3 [ @ AL SN @R (i) 559

Yar . (i) FE a9 R Fefa @nm 1

Solve the equation 2x+l=x-3 and represent
the solution on (i) The number line, (iﬂ The

Cartesian planc.

10T s § AC=BD %, @ i@ ML AB=CD: 4

Ifin figure AC = BD, then provehlhat AB = CD-

,_-,/".5/.'3

A B
11. AABC # ¥4 BC gy p o @ @ & [ AD = AC
WﬁiAB:)A[n 1
A
B 1 C
P.T.O.

. AT

(12) 1203

P a s ¢ on side BC of AABC such that
}\)l)l: :Cr?lﬁ‘:;vcn figurc show that AB > AD |

A

B D
}z/qaiﬁganscﬂmaﬁﬁlﬁmﬁﬁc 8
/B = 45°#T AB- AC = st en 4

Construct a triangle ABC in which BC 8 cm,
/B =45°and AB-AC = 35 cm.

13, @ 3 UE @ Qd ¥ A G OEgT & SR H
(fwe ogh) T 9 GE AR & T T

160 m 8, @ 9% 3 Wd3j
y 10y 4
100 m

100 m

100m " C
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(13) 1203

Sanya has a picee of land which is in the shape -
of a rhombus (sce figure). She wants her one

daughter and onc $on to work on  the land and

Produce different crops. She divided the land in
(wo cqual parts. If the perimeter of the land is
400 m and one of the diagonals is 160 m. How
much arca cach of them will get for their
crops ?

A 100 m

160 m
100m 100 m

D

100 m C

- T W9 g WA A 9w 1w e 4.4 Hqo? By 2R

T B omam A B 0.7 o

|
Curved surface areq of ari
iS 4.4 m? If the radiug of

4
ght circulay cylinder

-haryanaboard.com
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the base is 0.7 o then

(14) 1203
@) Re g R ® whgnm & afl [ 0 Ay
qqi a‘“ ? *

The record of @ weather station shows thyg oul
e i i .
-y - . o nfY (T} s lth \\'&‘llllll‘l‘
ast 250 congecutive days, A
of the pas

ere COrTe 75 times
forecasts were coreeet 175 ¢

(i) What is the probability that on o given day
.l -
it was correct 2
(i) What is the probability that it was oy

correct on a given day ?

qUg - T
SECTION-D

" goEs B 3

Sa® + 0% +1207h oab*
Factorisc ! ,
‘ 80 + b 4 12001 Gub™
i) @R Tm R RET 103 x 107 & OHE FE HIRIY) 2
Evaluate 103 x 107 withoutt direet multiplication.
3TYqT
OR
M P-a?+6x-a B y-g F WA W ﬂw
"W 2
; R .
Find \he remainder when ¥ —ax? +ox—a is
divi'd'cd‘by x—1.
TR 4G 3k gy o1 A WU ART

:_l.idc the Polynomiy; 3x? -4x*-3x-1 by
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17, wi oo 12035 arcch & 400 P e \'rhif-‘-rqa]a fu
i) i 8 0 T e % v -y
enl) ) ) SR gy, e s g ME e g AN
._ , . ’ L . L o
.D{TIRI 1.5 Mo sy B “.W w3 Al T8 g qe %&?J_« - )
:h.mﬁ;a LY, 25 Al 'ﬁﬁ‘l el gtard E'lﬁ tTiles) . 400-500 56
SR B Ul el AW 360 Tud AW WY 500-600 60
I gl WER) 7 ERE WY e g2 ? " & 600-700 82
Hnmeed hay byill @ cubical water tank with lig “T700-800 : X
for his house, with cach outer edge 1.5 m long, - 800-900 62
He pets the outer surface of the tank c'xcluding. 900-1000 __,_J :
(the base, covered with square tiles of sige 95 - i) @ ama o @ deE ad gt @
e, Find how much he would spend for the tjjeg Prafta FIRTT : 3
i the cost ol the tiles is ¥ 360 per dozen ? P A% & - 20050 & AfBET 2
37T S (11) ) s s
OR : The following table gives the lifetimes of 400
e et neon lamps : Z
Fuly | Mo IR & Fera gt ot aIiRar 15.4 dieg . Lifetimes (In Hours) | _ Number of Lamps
o I & R B abier aig A fle g 300-400 14
gy et 7 JoE 400-500 56
’I'h_n capacily of a closed cylindrical vessel of 500-600 60
height Imis 15.4 liters. How many square’ 600-700 86
meter ol etal sheet w ) , ) 1
g ould be nceded to _make&_i 700-800 ';;
18. aR wx A Sl 0% e ag on @ o o 8%0’190%% 48
ug O @i el § &g 900 ISP S g -
muw " m ) m R’ﬂ;ﬁ; a ﬁﬁi m EF‘.'_;_.';. (l) RCPI’CSCHL the;given Infowﬂ’ with tljc
5 T UEET & A F omm _ help of a histogram L ;
;rl . N } ' 5 , (iij How many J&mPS have # lifetime of mog
a triangle and a Parallclogram are on the same | than 700/hoWs ?

base and between the same parallels, then prove

that the arca of the triangie i .
gtc 18 ¢ 3
arca of the parallclogram. - s half;‘th’
]
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